- . 4
ER25FE FRFMOEEYD (IS
| REE
= F5 28 E3 e =] 60% - 50% 49%41cy
FNEBOBET] EfE |REE[BBE] 00 3%
589 8% 50%
KEZHES 49%| 41% 20% -
HEVZS Bl 34% 8% ’ 8% 8% &%
ZHBblwn 8% 0% oo ) e
7 Q N ~
/,)\\'/‘ /,)\V X Xy
% & s &F
)§_ %’) %")
)%y\
»
80% 61%  62%
DY VIRE LA EEHE T 60%
589 14% %  37% 20%
KEZHES 61% 51% 62% 0
HENFH Bl 16% 32% 0% 20% 9% 0%
FHE bR 6% 9% 0% - o
= 80% o 70%
SRR AN RET AL A A = 63%
55 25%]  20% 60%
REESES 63%| 70% 0% -
HEVEI R b 11% 8% 0 % -
FH B b7 1% 0% 20% B% 1%0%
0% A
’/) % ~ ~
'}{:0‘5 4(:';% ){Sﬁ? )(;\?,
)f_\{f? '}Z)‘v 'Kj,)\\"
)%f\
»
— 60%
—A— AZRUNCLUFHEERE AfE |REE|EmE
7585 18% 9% 29% 40%
N 0] 5.5) 49%| 44%| 58%
EoY Uk as) sV eV 21%|  37% 12% 0%
FHrE b7 8% 10% 0% 0
0%
E AN 3 3
%/)v %,)v &Zé(b‘ &Z(;(b'
\{& AL A
)f" %’) %")
)%:a\
»
73%
— 80%
FEICHBELRFRMECHEADFE At |REE|EBE -
£585 8%| 29% 60% 50%
j(ﬁ:%%u ) 73% 50% 40% 299
%in%gn_‘\bf&b\ 16% 16% 16001660
ZHBblwn 4% 4% 20% 8%| I .—I 4% 4%
0%
'Kj,)\"\)ﬁ 'k:,)\"\;) )(;\?: )5(%\7
)§)\ \'\%/) e
,@)%
P.3 25%RGEHE FEBEEICBELT




FEFEDESE At |REE| WA
585 17% 8% 20%
KEZHEH 33% 29%| 58%
HEVEO R DRV 35% 35% 20%
ZHB bR 10%] 28% 0%

P.4 25%RGEHN FEEEICBELT

60%

40%

20%

0%




